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1L 41-18= 2 S (fraction)
2. 333+ 76 = 23. 20% = (fraction)
3. 9x4= 24. 48 inches = feet
4. 42 +6= .
25 158+372 = (decimal}
5. What digit is in the thousand’s place of 75,6037
26. The GCD of 56 and 80 is
27. Which 1 Hler: ! ! ?
6. 27 + 28 429 = 7. ich 15 sma er.ﬁorﬁ.
7. (3% 100) + (7 x 1000) = 28. 54 %56 =
R XXV = { Arabic numerals) 29. How many prime numbers are there between ¢ and
187
9. 450 -50-30-50=
* 30. 278903 = 691 =
* 10, 2789 + 3475 + 1889 =
31. 5 gallons = pints
1. 25 %37 =
32. 30isto45as20isto
12. Round 89356 to the nearest ten’s place.
33. 144+12=
13. 16 +48 - 13 -43 =
34. If 4 limes cost $1.72, then one dozen limes cost
14, 11x132 =
$
15. 60030 = 35. 5x9+6%3 =
16. 582 +3 =
36. 91 x 89 =
17. What is the largest 2-digit multiple of 77
37. How many days are there in the month November?
18. Kevin has ninety-four cards. Leah has seventy-nine
cards. How many fewer cards does Leah have than 7
Kevin? 38. Write 50 as a decimal. {decimal)
19. 28 — =12 39. 0.135 liters = milliliters
# 20, 703 x 806 = * 40, 314 x 447 =
21, 37-2x7= 4. IfB=12,then 2B -5 =
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43.

43.

44,

45.

46.

47.

438.

49.

51

52.

53.

54.

55.

56.

57.

58.

59,

* 60.

What is the product of the digits in the tenth’s place
and thousandth’s place of 57.63847

48 x 48 =

2

2_1_
3 5

How many total subsets does the set {n, u, m, b, e, 1}
have?

The 12th term in the sequence 15, 19, 23, 27, ... is
3 .3 .
5;/— X 25 = (mixed number)

The perimeter of a square whose sides measure
18 inches is inches
134 (base 5) = (base 10}
2
14 x22x25 =
7
2.2 .
3710

The legs of a right trangle are 12 and 16. Tts
hypotenuse is

V169 =

40% of is12
5 .2

6—+7= = (mixed number)
6 3

The volume of a box with dimensions 9 inches by

8 inches by 5 inches is cubic inches

H6x—-7=11,thenx =

8 9

5 + . (mixed number)
1 .

22 yards = inches

1897° =

61.

62.

63.

64.

65.

66.

67.

68.

69.

71.

72.

73.

74,

75.

76.

7.

78.

79.

* 80.

. V24649 =

How many sides does a nonagon have?

2
The additive inverse of = 1s

117 +33% =

34— (=51) =

15

I5x — =
* 17

{mixed number)

12x(-13) =

1+3+5+7+...+35 =

439 —25¢ = 9

Hy+9>13 theny>

75%x24 =

How far is —23 from +18 on the pumber line?

The area of a parallelogram whose base is 13 cm and

height is 5 cm is cm?
1 2 .

2—=1== {mixed number)
3 5

277 - 232 =

The measure of the central angle of a regular pentagon

is degrees
6 miles = feet
16% of 63 is 9% of

6+12+18+24+30
2+4+6+8+10

3875 +0275 =
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For each estimation problem, the exact value (rounded to two decimal places) appears in square brackets.

) 23 22) % (@2) 48 (61) 9
@) 609 . @3) 2304 ©2) -2
(23) 3 7
7
®) 36 21 4 (44) 5 (63) 1210
4 7
@ 25) 5.3 (45) 64 (64) 85
()5 ' 4
(26) 8 (46) 59 (65) 13—1—,—7-
(6) 84 .
1 47) 13— 66) —156
(7 7300 @N 1 0 Y “
8) 24 (28) 3024 48) 72 (67 324
(9) 300 (29) 3 (49) 44 (@ 17
. 69) 4
£(10) 7746 — 8560 *(30) 384 — 423 *(50) 7465 — 8249 @
[8153] [403.62] [7857.14] #(70) 150 — 164
[157]
a1 925 31) 40 1) g; 6
(71) 18
(12) 89360 (32) 30 (52) 20
(72) 41
13) 8 (33) 12 &9 13
(73) 65
(14) 1452 (34 5.16 (54) 30 )
(15) 30000 35) 63 1 (74) 13
(55) 145
16) 194 (36) 8099 (75) 200
(56) 360
(17) 98 (37) 30 76) 72
57 3
18 15 (38) .14 &7 (77) 31680
1
a9) 16 39) 135 (58) 22 (78) 112
#(20) 538288 — 594948 *(40) 133341 — 147375  (59) 81 19) 3

[566618] [140358]
*(60) 54946 — 60729 *80) 134 — 147
(21) 23 41y 19 [57837.72]} [140.91]



